
It is often the case, on many vehicles, that

when a lower swivel fails, it is either

necessary or cheaper to replace the complete

lower arm. Many lower swivels are part of the

lower arm, while others are riveted in place. In

these situations, the 

labour required to change 

the swivel outweighs the 

cost of the new arm. 

This, of course, has the 

benefit that the lower arm 

bushes are also replaced at 

the same time. This 2007 

Renault Scenic had 

extensive play in the lower 

swivel, and on this vehicle 

the lower arm is not 

particularly easy to 

remove. This is mainly

because the bolt securing 

the front bush is hidden by

an extension to the sub 

frame. 

The swivel is 

available separately for 

around €15, and can be 

pressed out of the lower arm. This makes the

job of replacing just the swivel a better option

than replacing the complete lower arm.

On this Renault we also needed to fit a 

new securing clip to the CV gaiter before the

car was fit to pass the NCT.

Sometimes, it’s the little things that 

make the job so much easier. This 

2014 VW Caddy Van was in for its

scheduled timing belt replacement.

This is a straightforward job, and I

have done quite a few over the years. 

One little tip I have, is when 

fitting the new belt, it needs to be 

situated on the crankshaft pulley first. 

To ensure it stays in place, I use a piece

of cardboard (torn from the box that

the new timing belt comes in), to 

support the base of the belt. 

This prevents the belt from 

dropping out of place as you then

start to locate it on the upper pulleys. It’s a very

simple idea, but does without a doubt save a lot 

of frustration. 

There are purpose made clips for retaining

the timing belt onto the various pulleys, but I 

have found that using the piece of cardboard to 

keep the belt in place on the crankshaft pulley, is

all that is needed to ensure fitting goes smoothly. 

Once the belt is in place, the cardboard can 

be removed and thrown away.

The lower swivel can be pressed out of the lower arm and the
new one fitted without the need to remove the complete arm

The driver’s window on this 2005 Audi 

A4 had been a bit sluggish operating 

for a while, and the owner was worried that 

it was something she had done. The 

window, of course, failed in the open 

position. She said it appeared to be a bit 

tight as it went down for the last time, but 

then refused to go back up again. 

The failure had nothing to do with the 

window mechanism at all. After removing 

the door panel and checking out the motor 

and regulator, everything was found to be in 

a good working condition. 

The breakdown was down to a wiring 

fault in the door wiring loom. Years of 

opening and closing the driver’s door had 

resulted in a wire in the loom between the 

door and the body breaking. Wiring only has 

so much flexing ability, and we see this on 

quite a few vehicles as age begins to creep 

in. 

Soldering a new length of wire into the 

loom was all that was needed to restore full 

operation to the driver’s window.

The wire beneath the rubber boot had 
failed between the door and body
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The small piece of cardboard is all that is needed to 
keep the belt in position whilst fitting
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